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Chapter 2 Practice Test - Trigonometry

sin9=2 cosé?=-£ tanezg
H

at+b*=¢?

Show all of your work for full marks.

1. Find the value of the trig ratio indicated. Express your answer as a fraction (simplified, if
necessary).

b) siné c) tan@
AS 12 0
16 20 o .
0 13 H
[
12 A

2. Find the measure of the indicated side. Round your final answer to the nearest tenth.

a) side ¢ " A |
. cosbl = 5.
C 61 5 c
5 | A |
C c: _5 . 5 = 10.312 ¢=10-2¢+
Cosbl 0.4848
b) side b

H
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b A Y b= W2 . _WZ = 29177 b=292yd
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c)side BC 5 cosSl = BC

[
éc. 0 *
B ot 14 yd A BC = 14cosS|
i * 4(0.6293) BC = 8.8yd
= 8.810

3. This diagram shows an awning over the window of a house. Find the height of the awning, GH, to
H

the nearest tenth of a meter.

tan%2= L

GH

GH =_Lb - _1l.6 =
tan32 06249

4. Find the measure of each angle indicated. Round your final answer fo the nearest degree.

ZABC A
A A DB 24 sn B = _92_ or CoSB =£ or +anB=_7:0__
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5. Victor is building a wheelchair ramp to an entranceway that is 3 m above the sidewalk. The ramp
will cover a horizontal distance of 50 m. What angle, to the nearest degree, will the ramp make with

the ground?
3"' N\

SO0m
0ctan (&) = 243 (3T5Y

6. Solve the following right triangles. Give lengths to the nearest tenth and angles to the nearest
degree.

a 5 ¢A=180° - 90" - 64° 9
4 km 64° o
cosb4 = _A_ smo4 = _b_

4 4 N
b C
Q& = {.cosb4 b= 4.sinb4
1755 km = 3,595 km
b) c 0.1 + -'1' = 81'
7m = =l .J—
(8 ¢A = coS
o' = o4 -49 (%)
4 .
5 gm Jat = Jis = 28.955
¢B = s’m"(%) @:{5@
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7. Find the measure of £F to the nearest degree.

5 E
14.4 om\_ © ?
H F
G 9.6cmA
sin34 - EG tan F = 8.0524
4.4 9.6
EG = I4.4sinsk ¢F : tan (0.8388)
* 8.0524 cm

= 29.99°

8. From a small plane, V, the angle of depression of a sailboat is 21°. The angle of depression of a

ferry on the other side of the plane is 52°.
The plane is flying at an altitude of 1650 m.
How far apart are the boats, to the nearest meter?

vV

"""""" 21 - 52" oW = 7
1650 m| ®
" a5
U X W
sailboat ferry
tanz| = 1650 tansz2 = 1650
X XW
¥ =
UX = 1650 XW = 1b50
tanl .mn-SZ_
UW = 4298.2970 + 1289./12)%

5587.5183

UW = §588m



9. The diagram shows a falcon, F, on a tree, with a squirrel, S, and a chipmunk, C, on the ground.
From the falcon, the angles of depression of the animals are 36° and 47°.
How far apart are the animals on the ground to the nearest tenth of a meter?

.
a7 +an41 =I5 tan3b = 15 __
GC GS
16m
GC ‘_ﬁ.ﬂ Gs = IS
L 471\ tan41
G c s tanbe

CS = 20.6457-13.98177

CS = 6,658 m

10. Two buildings are 25 m apart. From the top of the shorter building, the angles of elevation and
depression of the top and bottom of the taller building are 31 and 48 respectively.
What is the height of the taller building? Give your answer to the nearest meter.

G

F __53:1_1__?.5!3-5“ GJ = i
Taller
building
Shorter
building
K 25 m J

tan48 = HJ tan3| = HG
25 25
H = 254anyg HG = 5. fan3l
= 21.7¢5 = 15.022
GJ =

21.165 +15.022- GJ =42

42187 m






